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M7 Chapter 6 Test [Choose 5 of the first 7 problems and choose 7 of the last 9 problems]

1. Maya selected Life and Times to read for English. By March 3" she had read 78 pages. If
she starts on March 4™ and reads the same number of pages each day she will be done by

the end of the day on March 12, How many pages does she need to read each day? 3-? ‘PAﬁlEs

A B 433,37
City Streets 387 7 q 33 -~
Life and Time 411 'B ?‘I‘S
Myopia 435 9
10
1
2. What value of x makes this equation true?
x-9524
AL
SV A
c.11 3 3
D.5 X = N

3. Joshua spends $0.25 for every song he downloads to his cell phone. Which of the
following represents the number of songs he can download if he spends at least $37

e > 2

N —t————

4 5678 91011121314
T o P
45678 91011121314
(. ——— - £

4 36 78 91011121314

D. Not enough information is given.

4. For a warm up, Samuel runs 200 yards less than half the maximum distance he can run.
This is represented by the equation, =% x—200 where x represents the maximum

distance he can run and » represents the distance run during his warm up. If Samuel ran
1,200 yards during his warm up, what is the maximum distance he can run?

!

A. 6,000 yards DO= G- 200

B. 5.600 yards /R 4 + 200 B
C. 5,200 yards + 400

D. 4,800 vards

i .1,400 -7—,5‘)(-'1‘

5;640 £X




5. Which of the following problems can be solved using the equation x + 9 = 157

A. David’s portion of the bill is $9 more than Jaleel’s portion of the bill. If Jaleel pays
$15, find x, the amount in dollars that David pays /5' +q =X

B. Calvin owns 24 CDs. If he gave 9 of them to a friend, what is x, the number of CDs

he has left? 94 - § =X

C. The sum of two numbers is 15. If one of the numbers is 9, what is x, the other
number? X+t 9 |5

D. Allison is 9 years younger than her sister Pam. Allison 1s 15 years old. What 1s x,
Pam’s age? X - ? =[5

6. Three children each had the same amount of money in their savings accounts. One of the
children withdrew a third of her money and spent it all on a $25 T-shirt. What was the
total amount of money originally in the accounts? Y = OAE CHILDS WonE,

3.,.._%-,(:253
X=75  #75pER cnp, 3(75)> %225 707AL

7. The length of each side of an equilateral triangle is decreased by 4 inches, so the
perimeter is now 27 inches. What is the original length of each side of the equilateral

triangle? K..:i =4
X = ORIGWAL SI1DE -y 9 e i A +
LENGTH X 9 g I3

[Hw

Choose 7 of the following 9 problems

1. $3 more than Sara has A 3-8 B. S-3 C.S+3 D. Sx3
—

2. a number decreased by 12 A 12-n B. n—-12 C. 12+n D. n+12

Identify the solution of each equation.

3.6+n=20 A, 14 B. 15 C. 16
4.p-2=19 A, 17 B. 19 C. 21

gm——
5.4h=24 A6 B. 8 C.9

>0l (o

Solve each inequality. BE SURE TO SHOW YOUR WORK

6. y-ss?zso 7. AT11<3 8. Tk=4 9.1, Z57¢-1)
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